. —FES | 2412074 |F AR BB |~/ |
- R | e S 0
5 K LE‘ Z .......... n esan O b Q"Z
Rk H KR R FHHEZ B B ® |8 # X 2
AOg E X B &
A / OB ADEE
222 aRAD T & (B 1% [B2n]® ok
ZE 3PP A kil 2od A® oot AT 2 A A A
] & #8077 «RiY| SR27
8oF 34 7/U Arr2o?| 5,2 [P ewoy z|EW % % %
B |mmE s,/ %3510 1808 HFRR y 269 %| a¢0 «g./A
BE[3 51 suses A ol SE ] erp” w95 8075
E(23 31 Mouse A 297 % 2«.’% «s. 8
K 2 FAHE | SRR 2 FE K 2 | ERE |fEaREsoRs
7 )
TR A B BE® S&Losdo| /44 /820 | BEMBRER |4 6/900 %}g ﬁ
! FA -
2 % H 8 #@® P23« 050| 11272888 HEERBIALR |2 0¢5 <po
BAREEIR O - - o o
3 %-—é . © s28090| s&88022 BB HBARR | opuds) L B
* Bai~Eps O £ 220 25,853 ﬁﬁj}:ﬁ s
i B Il % EEMNIHER| >,
©-0 ® (@ 20870 118,725 [ %
REERX@® |4 -Q i e
& ’
T Ro8$ 7§ UK RS ﬁﬁﬁﬁﬁ’éf,;{;gs;’:;
% & 20 (RE2E| O8I T | H KBS | ppncus)
a B LtAR SO s T R +A
o BELEVCTLE @ /80 000 | RBRBFTAE | 5550975
i
10. %Eéﬁ%ﬁé D|? ,scrs0 Sé zzy |y RER
- g B B % £ 3 B
1.'%-' R 1(_3 }
x  # |RAR#®|wnae® |A4a al |8 2 |wexerss |4 Can) Al
-
( 264 N 722770 |( 278024 B HERE|", « /2 ] ©/0 000
— & R A 2<P 28 U222 25,832 | B B\ Mz, sz g 434000
> BHERR % 76,34 8¢ s/2 | A BNy 2, /| 444000
“H LB A / &0 w0000 | % B R[4y , $88 o000
W P R B ﬁ%ﬁEHZ./Z./ v/$ 000
B W R R / 758 s$Qo00 | BERIBR |7, 5, 250 000 |
& # | 2o/ 7,00/0 29,00 | BEER |V, 20y | srso0p M
5% 4 | B0 wxw |FREUR ImAn| & X | 25697
2 e — | B | 2EasrooBAL | s22797
g o G =] 62&'9\”' o /3 z m A f#t # X ¢‘,7<<oﬁ¢"*‘“i
» A
2l AtTFkE | m % R B B H| LR
o # //2‘0:96 & ) ij —‘lﬁ%%‘)%ﬁﬁﬁ%ﬁﬁ ’?2&’\{-\3‘-3}[%
R memsmn | B | aseor| s270p| /7 | [BREEAMOWEBEER|  pseod
e : R ERRE—ASDE A| xs208 "
EARBER | B 20| saswpe| ) » BREBHRE| ozose P




ER2EE

WEHE | B B W B o — /)
= A #t H Al B in
X 5 | v | mit [Br Soomnd X o e | Ak R R BRKE
. Y] B 2 wéd & 2/ 5'% 2«5&?)’2‘ 4{0.;‘ A {:‘# ® 2,&3&.;22 zo.7$ ,zz/\g-/ﬁ? /99:‘?;} ya,/%
M EBRE R | 2999 2.0 | 237099 2.8 2 BREAR | wsqdl 22.2 | osg928900080] 22.2
FTFE ZHE| ooorsl 0.9 | sovee| Lz | KW B |aeadesl 7S | sopazél wersst]| ¢.°
EERBEREHS | socud| 0.6 | o0du3| , 8|2 R B\ oped 28 | sesssz| owsyr2| o
ol XA B sowreet] 99.6 |ar02998 $2¢ | RITFIBBRE | aspuns] 27 | s94203] 894903| 2.2
B B 2702982 27./ |Sr02993| /-8 ﬁ"‘ﬂéﬁ%}\ﬁj% s#ood| 0.7 ricoo®|  sriood| o2
¥ B | 29404 é.8 AN B 4$o8283 Lo.0 |u703¢2324Pous $2.2
7 Bt coowoss| 89 lespswes| 228 |88 % BI|oo/t8)] g0 | srured| wos263 &7
TRERERHE | ss/| o.0| 2e¢s| o0/ | T BE R| pers| 0.8 | $2978) 9849/ o-¢
S8 A8 | joon| 9./ WO B OB | awerd 28 | 273998 ¢2000 ro¥
£ B B se2 0.7 B L ®)| gtend 2.& | vr209 L
F B OB weps| 0.« BB ERBR| apuog] 2.4 2747 /
X MR |,26089 269 B M & | 2| 2.4 | 2c09us] oened| 2.3
BHRE#ZAS BYEEEL RS
ERRTI R | 20002 2.2 BENER | pponl 02/ |2892422 8 »
: T % 2.2 %
B oE XA 228238 /.7 2771 o-° 2 BAHR a0 ©0.7 20070 (ga:‘g
= i & s8fo| 0.0 | LEBREER s40rr02] 929 |scwapd —RMER
B A €| e 20 | 4 81| psrm0d s4.3 | 270004 «$$2 738 ¥
s & & r240p0| /-7 B M|, ¢ g s0o| s %2 | 1rsE7P —BHEBESLY
B W A zegood 2.3 | 2apei] o.u | R WOBEER | pee0| .3 | nzsp2 &N
ﬂ]‘ A it pro880l &.0 %Eﬁi% $93 27 2 Rtz 74 7774 318 ¥R
= At lyussere 1000 o2549¢] 10 0.0 a8 AT 202808 1000 |coa720d
il Hy ) B B B 5 =B H
K # |ewm|mny e Be@ BRMI Ik 8 | aEE |88k |ing
B | AR |o,2038] 59.7% | 22.0% | 90700 b Bl & B 2oored| -8 *| 2oopud
B R BAS | serig| b | 3.8 | sosuws| grze0| R B B |, 5220 8.7 | $97232
B & A B B | o000 «x.p | 2.8 |gozzezol 7259/ B £ B |,p2826p] 82 PEEASSE
BHHHEBR| | 90| 27| w3020 ® & B cons09| %27 «3PI7&
TR opscs| i | 0.7 | sog3sl —T | B & B| s7.¢62] o4 17672
% = B // EHKEER o283 27 SII427
B B B B L B| 25083 27 2685
A M5l B * K B | espvr| #€ SREL70]
HIALBRER | 93| o0 | 2.7 «$3 | B B avssee| 2.4 268304
H #f B % H B sop208| 2.8 | sr3348¢]
A BB / REBFBR | soz27¢]| $.2 Y.
i | i atE B 7 N ' OBR| swwyl 27 $us9s2
. KRR B /| B OM & | apo22| 29 29922
| FEEE R / _— ArEREARE|
PR R B
a Bt lawege2t] 1000 | s.0 |2oromd r2%08/ B B | apeses| 1000 | g90225¢
A A B # 0 W O TR o e memas)| 6 #
| | oo MR | 4y g gy | 200000 M IFEHER | o] aed | sil
AL e (A1 [ A 2ooo000l] L . e 5 p 5 o
B\ s | SRR (MBS [TEARUE | w7 S0, | MRHER | 287 | 20 4 S
B 5 /-0 ErBER | 5 00 | A #H| 98| 2.8 98¢




